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1. Four types of unemployment:

a. An example of structural unemployment is an employee in an assembly line being replaced by a machine that does the same job.
b. An example of frictional unemployment is when a student comes out of college and is searching for a job.

c. An example of cyclical unemployment is when a company is doing badly because of a recession in the market and they cut jobs.
d. An example of seasonal unemployment is the ice cream man who only works during spring and summer.
2. The AD curve will be affected by each of the following:

a. If the consumers expect recession in the future then the AD curve will shift to the right because consumers will be purchasing more now when the market is good.
b. If foreign income falls then the AD curve will shift to the left because foreign spending and net exports fall.
c. If foreign price levels fall then the AD curve will shift to the right because net exports will increase because products are cheaper in other countries.
d. If government spending decreases then the AD curve will shift to the left.

e. If interest rate increases then the AD curve will shift to the left because an increase in the interest rate decreases the purchasing power of currency.
f. If personal taxes decrease than people have more disposable income, therefore AD will shift to the right.
g. If stock prices increase than people are less likely to invest in businesses therefore the AD curve will shift to the left.
h. If economists predict higher prices next year then the AD curve will shift to the right for now because consumers will buy more now at cheaper prices.

i. If the dollar depreciates than the AD curve will shift to the left because the purchasing power of 
j. If the domestic price level increases then the purchasing power of the domestic currency will decrease…
3. The SRAS curve will be affected by each of the following:
a. If oil prices increase the SRAS curve shifts to the left because firms are willing to produce less because the cost of production is increasing.
b. If workers expect higher future inflation and negotiate higher wages now then the SRAS curve will shift to the left because firms are willing to produce less because the cost of production is increasing.
c. If technological improvements increase productivity then the output will increase therefore the SRAS curve will shift to the right.

d. If available factors of production increase then the firm will be more willing to produce more output therefore the SRAS curve will shift right.

e. If domestic price level increases then the SRAS curve will shift to the right because firms will be making more money and will be willing to produce more.

4. The short-run aggregate supply curve is upward sloping because as price level rises (ceteris paribus) business profits will increase and they are thus willing to produce more output.

5. According to the chart:

a. The quantity of GDP that will be produced during this period is 5,400.
b. This will be the long-run equilibrium level of Y because at this level both the quantity supply and demanded are expected to be the same.
c. At this level both the actual unemployment and the natural unemployment are equal.
d. The current Ye is sustainable into the future because the quantity supplied is equivalent to the quantity demanded.
6. According to the chart:
a. The quantity of GDP that will be produced during this period is 5,400.

b. This is not the long-run equilibrium level of Y because at this level the quantity demanded is greater than the quantity supplied of GDP.

c. At this level the actual unemployment is greater than the natural unemployment because less GDP is being produced than is demanded.
d. The current Ye (5,700) is sustainable into the future because in the long-run the quantity will adjust itself to the price.

